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Measure mass (2) Yot e The mass of each object is shown on the label.

4 kg and

800 g 400 g

0 What is the mass of each object?

a)
+JOO |9

b)
| |kgand| J0O0) |9
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o What is the mass of each object? @

a)
00 |9
2 The book weighs
more than the toy bricks
b) because the arrow goes
further round.
Do you agree with Whitney? 20
-
e Amir and Annie each have a present. @
) |kgand| LOO |g They are working out the mass of their presents using weights.
Our presents
0 weigh the same.
No they do not.
Mine is heavier because
it weighs more than
one Rilogram.
L( kg and QSO g - )
Who is correct? __F\ nous
How did you work out what each interval on the @ How do you know?

scales represents?
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